
[1] 
 

ORAC Standard Curves [averaged slopes (n=3 runs) are reported in table 5 and illustrated in 

figure 4] of the manuscript. 

 Trolox Standard Curves. 

 

 

 

y = 121.06x - 45.792
R² = 0.9977
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y = 117.98x - 13.475
R² = 0.9969
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y = 119.05x - 58.123
R² = 0.9995
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 Test Compounds (3, 4, 8, 12, 18, 20)  Standard Curves. 

 

 

y = 126.14x ‐ 65.778
R² = 0.9931
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y = 197.09x + 471.35
R² = 0.9747
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y = 208.1x + 400.52
R² = 0.9923
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y = 211.64x + 376.38
R² = 0.9939
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y = 159.65x + 208.15
R² = 0.9951
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y = 153.96x + 310.68
R² = 0.9942
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y = 151.61x + 418.74
R² = 0.9895
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y = 247.86x + 689.66
R² = 0.9779
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y = 232.63x + 910.4
R² = 0.9797
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y = 216.76x + 810.85
R² = 0.975
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y = 150.73x + 487.06
R² = 0.9655
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y = 151.26x + 558.49
R² = 0.9743
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y = 151.74x + 513.15
R² = 0.9661
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y = 137.81x + 200.16
R² = 0.9799
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y = 134.04x + 200
R² = 0.997
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y = 140.51x + 130.48
R² = 0.9985
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y = 184.38x + 301.63
R² = 0.9781
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y = 173.05x + 824.04
R² = 0.9516
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y = 176.15x + 854.93
R² = 0.9547
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